MALAYSIAN JOURNAL OF MATHEMATICAL SCIENCES

Journal homepage: http://einspem.upm.edu.my/journal

Relation Between Sums of Squares and Sums of Centred Pentagonal Numbers Induced by Partitions of 8

Johari, M. A. M. *1,2, Sapar, S. H. ^{1,2}, and Zaini, N. A.¹

¹Department of Mathematics, Faculty of Science, Universiti Putra Malaysia, Malaysia ²Institute for Mathematical Research, Universiti Putra Malaysia, Malaysia

> E-mail: mamj@upm.edu.my * Corresponding author

Received: 5 January 2020 Accepted: 30 November 2020

ABSTRACT

The relation between the number of representations of an integer n as a sums of squares induced by λ , $s_{\lambda}(n)$ and the number of representations of an integer n as a sums of centred pentagonal numbers induced by λ , $c_{\lambda}(n)$ is given by

$$s_{\lambda}(8n) - s_{\lambda}(2n) = \beta_{\lambda}c_{\lambda}(5n+3),$$

for all non-negative integers n where $\beta_{\lambda} = 2^m + 2^{m-1} \binom{i_1}{4} + \binom{i_1}{2} \binom{i_2}{1} + \binom{i_1}{1} \binom{i_3}{1}$ for i_j denote the number of parts of λ which are equal to j and $\lambda = (\lambda_1, \lambda_2, \ldots, \lambda_m)$ is a partition of 8. This relation is proved for all 22 partitions of 8 by using the generating function method.

 $\label{eq:keywords: Number of representations, squares, centred pentagonal numbers.$

Johari, M. A. M., Sapar, S. H. & Zaini, N. A.

1. Introduction

A relation between number of representations of integer n as a sums of k squares, $s_k(n)$ and number of representations of integer n as a sums of k triangular numbers, $t_k(n)$ has been discovered by Barrucand et al. (2002) given by

$$s_k(8n+k) = \alpha_k t_k(n),$$

where

$$\alpha_k = 2^{k-1} \left\{ 2 + \binom{k}{4} \right\}, \text{ for } 1 \le k \le 7.$$

Generating functions method was used in proving this relation. Later, this relation was proved using the combinatorial method by Cooper and Hirschhorn (2004). However this relation does not hold for any $k \ge 8$. This fact has been proved by Bateman et al. (2001).

Let $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_m)$ be a partition of k where $\lambda_1, \lambda_2, \dots, \lambda_m$ are integers satisfying $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_m \geq 0$ and $\lambda_1 + \lambda_2 + \dots + \lambda_m = k$. We denote $s_{\lambda}(n)$ the number of representations of an integer n, a sum of squares induced by λ and $t_{\lambda}(n)$ the number of representations of an integer n as a sum of triangular number induced by λ . In other words, $s_{\lambda}(n)$ is the number of integer solutions of the equation

$$\lambda_1 x_1^2 + \lambda_2 x_2^2 + \ldots + \lambda_m x_m^2 = n$$

and $t_{\lambda}(n)$ is the number of non-negative integer solutions in the equation

$$\lambda_1 \frac{x_1(x_1-1)}{2} + \lambda_2 \frac{x_2(x_2-1)}{2} + \ldots + \lambda_m \frac{x_m(x_m-1)}{2} = n.$$

Adiga et al. (2005) obtained a relation between $s_{\lambda}(n)$ and $t_{\lambda}(n)$ as

$$s_{\lambda}\left(8n+k\right) = \beta_{\lambda}t_{\lambda}\left(n\right)$$

for $1 \le k \le 7$, where

$$\beta_{\lambda} = 2^m + 2^{m-1} \left(\binom{i_1}{4} + \binom{i_1}{2} \binom{i_2}{1} + \binom{i_1}{1} \binom{i_3}{1} \right) \tag{1}$$

for i_j denote the number of parts in λ which are equal to j.

Malaysian Journal of Mathematical Sciences

Relation Between Sums of Squares and Sums of Centred Pentagonal Numbers

They proved the result using the generating functions and combinatorial method. Baruah et al. (2008) proved the relationship between $s_{\lambda}(n)$ and $t_{\lambda}(n)$ given by

$$s_{\lambda} \left(8n+8\right) - s_{\lambda} \left(2n+2\right) = \beta_{\lambda} t_{\lambda} \left(n\right)$$

for $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_m)$ be a partition of 8 using generating function method.

Let $c_{\lambda}(n)$ denote the number of representations of an integer n as a sums of centred pentagonal numbers induced by λ . In other words, $c_{\lambda}(n)$ is the number of non-negative integer solutions of the equation

$$\lambda_1 \frac{5x_1^2 + 5x_1 + 2}{2} + \lambda_2 \frac{5x_2^2 + 5x_2 + 2}{2} + \ldots + \lambda_m \frac{5x_m^2 + 5x_m + 2}{2} = n.$$

For example, for n = 23 and $\lambda = (5, 2, 1)$ we have m = 3,

$$5\frac{5x_1^2 + 5x_1 + 2}{2} + 2\frac{5x_2^2 + 5x_2 + 2}{2} + \frac{5x_3^2 + 5x_3 + 2}{2} = 23$$

Then 23 = 5(1)+2(6)+1(6) = 5(1)+2(1)+1(16). Thus, $(x_1, x_2, x_3) = (0, 1, 1) = (0, 0, 2)$. Therefore $c_{(5,2,1)}(23) = 2$.

Johari et al. (2012) obtained the relation between $s_{\lambda}(n)$ and $c_{\lambda}(n)$ as

$$s_{\lambda}\left(\frac{8n-3k}{5}\right) = \beta_{\lambda}c_{\lambda}(n)$$

for $1 \leq k \leq 7$ where β_{λ} is given by Equation (1) and they proved for this relation by using the generating function method. Later, the combinatorial proof was given by Johari et al. (2013).

Ballantine and Merca (2019) used Merca's factorization theorem for Lambert series to obtain relationships between $s_k(n)$ and partitions into distinct parts. They also obtained convolutions involving overpartition functions as well as pentagonal recurrence formulas for $s_4(n)$ and $s_8(n)$. These results lead to new connections between divisors and partitions.

Jha (2020) established a relation between sum of inverses of odd divisors d of a positive integer n and the number of representations of n as a sum of k squares $s_k(n)$. They proved the following interesting combinatorial identity:

$$\sum_{d|n} \frac{1}{d} = \frac{1}{2} \sum_{k=1}^{n} \frac{(-1)^{n+k}}{k} \binom{n}{k} s_k(n).$$

2. A relation between sum of squares and sums of centred pentagonal numbers induced by partitions of 8

In this section, we extend our discussion to the relation between the number of representations of an integer n as sums of squares and number of representations of n as sums of centred pentagonal numbers induced by partitions of 8. The relation is given by following theorem.

Theorem 1. Let $\lambda = (\lambda_1, \lambda_2, \dots, \lambda_m)$ be a partition of 8. Then for any nonnegative integer n, we have

$$s_{\lambda}(8n) - s_{\lambda}(2n) = \beta_{\lambda}c_{\lambda}(5n+3),$$

where $\beta_{\lambda} = 2^m + 2^{m-1} \left(\binom{i_1}{4} + \binom{i_1}{2} \binom{i_2}{1} + \binom{i_1}{1} \binom{i_3}{1} \right)$ and i_j denote the number of parts in λ which are equal to j.

We prove Theorem 1 by using generating function method. Let

$$\phi(q) = \sum_{n=-\infty}^{\infty} q^{n^2}, \psi(q) = \sum_{n=0}^{\infty} q^{\frac{n^2+n}{2}}, \omega(q) = \sum_{n=0}^{\infty} q^{\frac{5n^2+5n+2}{2}},$$

where q is any number in (-1, 1). The generating functions for $s_{\lambda}(n)$ and $c_{\lambda}(n)$ are

$$\sum_{n=0}^{\infty} s_{(\lambda)}(n) q^n = \phi\left(q^{\lambda_1}\right) \phi\left(q^{\lambda_2}\right) \dots \phi\left(q^{\lambda_m}\right),$$
$$\sum_{n=0}^{\infty} c_{(\lambda)}(n) q^n = \omega\left(q^{\lambda_1}\right) \omega\left(q^{\lambda_2}\right) \dots \omega\left(q^{\lambda_m}\right).$$

In order to prove Theorem 1, we need the following lemma.

Lemma 2.1. Let

$$\begin{split} \phi\left(q\right) &= \sum_{n=-\infty}^{\infty} q^{n^{2}}, \psi\left(q\right) = \sum_{n=0}^{\infty} q^{\frac{n^{2}+n}{2}}, \omega\left(q\right) = \sum_{n=0}^{\infty} q^{\frac{5n^{2}+5n+2}{2}}, \\ a\left(q\right) &= \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} q^{m^{2}+mn+n^{2}}, \end{split}$$

Malaysian Journal of Mathematical Sciences

where q is any number in (-1, 1). Then, we have the following relations

$$\phi(q) + \phi(-q) = 2\phi(q^4), \qquad (2)$$

$$\phi(q) - \phi(-q) = 4q\psi(q^8), \qquad (3)$$

$$\phi(q)\phi(-q) = \phi^2(-q^2), \qquad (4)$$

$$\phi(q)\psi(q^2) = \psi^2(q), \qquad (5)$$

$$a(q) = \phi(q)\phi(q^3) + 4q\psi(q^2)\psi(q^6), \qquad (6)$$

$$\phi(q) = \phi(q^4) + 2q\psi(q^8), \qquad (7)$$

$$\phi^{2}(q) = \phi^{2}(q^{2}) + 4q\psi^{2}(q^{4}), \qquad (8)$$

$$\psi(q)\psi(q^3) = \phi(q^6)\psi(q^4) + q\phi(q^2)\psi(q^{12}), \qquad (9)$$

$$\phi(q)\phi(q^3) = a(q^4) + 2q\psi(q^2)\psi(q^6), \qquad (10)$$

$$a(q) = a(q^4) + 6q\psi(q^2)\psi(q^6), \qquad (11)$$

$$\psi(q) = q^{-\frac{1}{5}}\omega\left(q^{\frac{1}{5}}\right). \tag{12}$$

Proof. The proof of the Equations (2)-(11) is discussed in Baruah et al. (2008). We provide the proof for Equation (12) as follows.

$$\begin{split} \psi \left(q \right) &= \sum_{n=0}^{\infty} q^{\frac{n^2 + n}{2}} \\ &= \sum_{n=0}^{\infty} q^{\frac{n^2 + n}{2} + \frac{1}{5} - \frac{1}{5}} \\ &= \sum_{n=0}^{\infty} q^{\frac{5n^2 + 5n + 2}{10} - \frac{1}{5}} \\ &= q^{-\frac{1}{5}} \sum_{n=0}^{\infty} q^{\left(\frac{1}{5}\right) \left(\frac{5n^2 + 5n + 2}{2}\right)} \\ &= q^{-\frac{1}{5}} \omega \left(q^{\frac{1}{5}}\right). \end{split}$$

Thus, Equation (12) is proved.

Now, by using the Lemma 2.1, we prove the Theorem 1.

Proof of Theorem 1

There are 22 partitions to be considered in this proof. However we only show

Malaysian Journal of Mathematical Sciences

two partitions which are (5, 1, 1, 1) and (3, 3, 1, 1). Similar approach is used for proving other 20 partitions.

1. Case $\lambda = (5, 1, 1, 1)$

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)}(n) q^n = \phi(q^5) \phi(q) \phi^2(q).$$

Apply Equation (7) and Equation (8) to get

$$\begin{split} \sum_{n=0}^{\infty} s_{(5,1,1,1)}(n) q^n &= \left[\phi\left(q^{20}\right) + 2q^5\psi\left(q^{40}\right) \right] \left[\phi\left(q^4\right) + 2q\psi\left(q^8\right) \right] \\ &= \left[\phi^2\left(q^2\right) + 4q\psi^2\left(q^4\right) \right] \\ &= \phi\left(q^{20}\right)\phi\left(q^4\right)\phi^2\left(q^2\right) + 4q\phi\left(q^{20}\right)\phi\left(q^4\right)\psi^2\left(q^4\right) \\ &+ 2q\phi\left(q^{20}\right)\psi\left(q^8\right)\phi^2\left(q^2\right) + 8q^2\phi\left(q^{20}\right)\psi\left(q^8\right)\psi^2\left(q^4\right) \\ &+ 2q^5\psi\left(q^{40}\right)\phi\left(q^4\right)\phi^2\left(q^2\right) + 8q^6\psi\left(q^{40}\right)\phi\left(q^4\right)\psi^2\left(q^4\right) \\ &+ 4q^6\psi\left(q^{40}\right)\psi\left(q^8\right)\phi^2\left(q^2\right) + 16q^7\psi\left(q^{40}\right)\psi\left(q^8\right)\psi^2\left(q^4\right) . \end{split}$$

Extract the even powers of q, then replace q^2 with q, gives

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)} (2n) q^n = \phi(q^{10}) \phi(q^2) \phi^2(q) + 8q\phi(q^{10}) \psi(q^4) \psi^2(q^2) + 8q^3 \psi(q^{20}) \phi(q^2) \psi^2(q^2) + 4q^3 \psi(q^{20}) \psi(q^4) \phi^2(q).$$
(13)

Apply Equation (8) to Equation (13), we have

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)} (2n) q^n = \phi (q^{10}) \phi (q^2) [\phi^2 (q^2) + 4q\psi^2 (q^4)] + 8q\phi (q^{10}) \psi (q^4) \psi^2 (q^2) + 8q^3 \psi (q^{20}) \phi (q^2) \psi^2 (q^2) + 4q^3 \psi (q^{20}) \psi (q^4) [\phi^2 (q^2) + 4q\psi^2 (q^4)].$$

Extract the even powers of q, then replace q^2 with q, yields

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)}(4n) q^n = \phi(q^5) \phi(q) \phi^2(q) + 16q^2 \psi(q^{10}) \psi^3(q^2).$$
(14)

Malaysian Journal of Mathematical Sciences

Apply Equation (7) and Equation (8) to Equation (14), we have

$$\begin{split} \sum_{n=0}^{\infty} s_{(5,1,1,1)} \left(4n\right) q^n &= \left[\phi\left(q^{20}\right) + 2q^5\psi\left(q^{40}\right)\right] \left[\phi\left(q^4\right) + 2q\psi\left(q^8\right)\right] \\ &= \left[\phi^2\left(q^2\right) + 4q\psi^2\left(q^4\right)\right] + 16q^2\psi\left(q^{10}\right)\psi^3\left(q^2\right) \\ &= \phi\left(q^{20}\right)\phi\left(q^4\right)\phi^2\left(q^2\right) + 4q\phi\left(q^{20}\right)\phi\left(q^4\right)\psi^2\left(q^4\right) \\ &+ 2q\phi\left(q^{20}\right)\psi\left(q^8\right)\phi^2\left(q^2\right) + 8q^2\phi\left(q^{20}\right)\psi\left(q^8\right)\psi^2\left(q^4\right) \\ &+ 2q^5\psi\left(q^{40}\right)\phi\left(q^4\right)\phi^2\left(q^2\right) + 8q^6\psi\left(q^{40}\right)\phi\left(q^4\right)\psi^2\left(q^4\right) \\ &+ 4q^6\psi\left(q^{40}\right)\psi\left(q^8\right)\phi^2\left(q^2\right) + 16q^7\psi\left(q^{40}\right)\psi\left(q^8\right)\psi^2\left(q^4\right) \\ &+ 16q^2\psi\left(q^{10}\right)\psi^3\left(q^2\right). \end{split}$$

Extract the even powers of q, then replace q^2 with q, the result is

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)} (8n) q^{n} = \phi(q^{10}) \phi(q^{2}) \phi^{2}(q) + 8q\phi(q^{10}) \psi(q^{4}) \psi^{2}(q^{2}) + 8q^{3}\psi(q^{20}) \phi(q^{2}) \psi^{2}(q^{2}) + 4q^{3}\psi(q^{20}) \psi(q^{4}) \phi^{2}(q) + 16q\psi(q^{5}) \psi^{3}(q).$$

From Equation (13), we have

$$\sum_{n=0}^{\infty} s_{(5,1,1,1)}(8n) q^n = \sum_{n=0}^{\infty} s_{(5,1,1,1)}(2n) q^n + 16q\psi(q^5) \psi^3(q).$$
(15)

Apply Equation (12) to Equation (15), we have

$$\begin{split} \sum_{n=0}^{\infty} s_{(5,1,1,1)} \left(8n\right) q^n &= \sum_{n=0}^{\infty} s_{(5,1,1,1)} \left(2n\right) q^n + 16q \left[q^{-\frac{5}{5}}\omega\left(q^{\frac{5}{5}}\right)\right] \left[q^{-\frac{1}{5}}\omega\left(q^{\frac{1}{5}}\right)\right]^3 \\ &= \sum_{n=0}^{\infty} s_{(5,1,1,1)} \left(2n\right) q^n + 16q^{-\frac{3}{5}}\omega\left(q^{\frac{5}{5}}\right) \omega^3\left(q^{\frac{1}{5}}\right) \\ &= \sum_{n=0}^{\infty} s_{(5,1,1,1)} \left(2n\right) q^n + 16\sum_{n=0}^{\infty} c_{(5,1,1,1)} \left(n\right) q^{\frac{n-3}{5}}. \end{split}$$

Equate coefficients of q^n , we get

$$s_{(5,1,1,1)}(8n) = s_{(5,1,1,1)}(2n) + 16c_{(5,1,1,1)}(5n+3).$$

For $\lambda = (5, 1, 1, 1)$, we have $m = 4, i_1 = 3, i_2 = 0, i_3 = 0$. Hence

$$\beta_{(5,1,1,1)} = 2^4 + 2^3 \left(\binom{3}{4} + \binom{3}{2} \binom{0}{1} + \binom{3}{1} \binom{0}{1} \right) = 2^4 = 16.$$

Johari, M. A. M., Sapar, S. H. & Zaini, N. A.

Thus, Theorem 1 for the partition $\lambda = (5, 1, 1, 1)$ is proved.

2. Case $\lambda = (3, 3, 1, 1)$

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)}(n) q^n = \phi(q^3) \phi(q^3) \phi(q) \phi(q)$$

Apply Equation (10), we have

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)}(n) q^n = [a(q^4) + 2q\psi(q^2)\psi(q^6)] [a(q^4) + 2q\psi(q^2)\psi(q^6)] = a^2(q^4) + 4qa(q^4)\psi(q^2)\psi(q^6) + 4q^2\psi^2(q^2)\psi^2(q^6).$$

Extract the even powers of q, then replace q^2 with q. The result is

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)}(2n) q^n = a^2 (q^2) + 4q\psi^2 (q) \psi^2 (q^3).$$
 (16)

Apply Equation (9) and Equation (6) to Equation (16), we have

$$\begin{split} \sum_{n=0}^{\infty} s_{(3,3,1,1)} \left(2n\right) q^n &= \left[\phi\left(q^2\right)\phi\left(q^6\right) + 4q^2\psi\left(q^4\right)\psi\left(q^{12}\right)\right]^2 \\ &+ 4q \left[\phi\left(q^6\right)\psi\left(q^4\right) + q\phi\left(q^2\right)\psi\left(q^{12}\right)\right]^2 \\ &= \phi^2\left(q^2\right)\phi^2\left(q^6\right) + 16q^4\psi^2\left(q^4\right)\psi^2\left(q^{12}\right) \\ &+ 4q\phi^2\left(q^6\right)\psi^2\left(q^4\right) + 16q^2\phi\left(q^6\right)\psi\left(q^4\right)\phi\left(q^2\right)\psi\left(q^{12}\right) \\ &+ 4q^3\phi^2\left(q^2\right)\psi^2\left(q^{12}\right). \end{split}$$

Extract the even powers of q, then replace q^2 with q yields

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)} (4n) q^n = \phi^2 (q) \phi^2 (q^3) + 16q^2 \psi^2 (q^2) \psi^2 (q^6) + 16q \phi (q) \phi (q^3) \psi (q^2) \psi (q^6).$$
(17)

Apply Equation (10) to Equation (17), we have

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)} (4n) q^n = \left[a \left(q^4 \right) + 2q\psi \left(q^2 \right) \psi \left(q^6 \right) \right]^2 + 16q^2 \psi^2 \left(q^2 \right) \psi^2 \left(q^6 \right) + 16q\psi \left(q^2 \right) \psi \left(q^6 \right) \left[a \left(q^4 \right) + 2q\psi \left(q^2 \right) \psi \left(q^6 \right) \right] = a^2 \left(q^4 \right) + 4qa \left(q^4 \right) \psi \left(q^2 \right) \psi \left(q^6 \right) + 4q^2 \psi^2 \left(q^2 \right) \psi^2 \left(q^6 \right) + 16q^2 \psi^2 \left(q^2 \right) \psi^2 \left(q^6 \right) + 16q\psi \left(q^2 \right) \psi \left(q^6 \right) a \left(q^4 \right) + 32q^2 \psi^2 \left(q^2 \right) \psi^2 \left(q^6 \right) .$$

Extract the even powers of q, then replace q^2 with q. The result is

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)}(8n) q^n = a^2 (q^2) + 4q\psi^2 (q) \psi^2 (q^3) + 48q\psi^2 (q) \psi^2 (q^3).$$

From Equation (16), we have

$$\sum_{n=0}^{\infty} s_{(3,3,1,1)}(8n) q^n = \sum_{n=0}^{\infty} s_{(3,3,1,1)}(2n) q^n + 48q\psi^2(q) \psi^2(q^3).$$
(18)

Apply Equation (12) to Equation (18), we have

$$\begin{split} \sum_{n=0}^{\infty} s_{(3,3,1,1)} \left(8n\right) q^n &= \sum_{n=0}^{\infty} s_{(3,3,1,1)} \left(2n\right) q^n + 48q \left[q^{-\frac{3}{5}}\omega\left(q^{\frac{3}{5}}\right)\right]^2 \left[q^{-\frac{1}{5}}\omega\left(q^{\frac{1}{5}}\right)\right]^2 \\ &= \sum_{n=0}^{\infty} s_{(3,3,1,1)} \left(2n\right) q^n + 48q^{-\frac{3}{5}}\omega^2 \left(q^{\frac{3}{5}}\right) \omega^2 \left(q^{\frac{1}{5}}\right) \\ &= \sum_{n=0}^{\infty} s_{(3,3,1,1)} \left(2n\right) q^n + 48\sum_{n=0}^{\infty} c_{(3,3,1,1)} \left(n\right) q^{\frac{n-3}{5}}. \end{split}$$

Equate coefficients of q^n gives

$$s_{(3,3,1,1)}(8n) = s_{(3,3,1,1)}(2n) + 48c_{(3,3,1,1)}(5n+3)$$

For $\lambda = (3, 3, 1, 1)$, we have $m = 4, i_1 = 2, i_2 = 0, i_3 = 2$. Hence

$$\beta_{(3,3,1,1)} = 2^4 + 2^3 \left(\binom{2}{4} + \binom{2}{2} \binom{0}{1} + \binom{2}{1} \binom{2}{1} \binom{2}{1} \right) = 48.$$

Thus, Theorem 1 for the partition $\lambda = (3, 3, 1, 1)$ is proved.

Malaysian Journal of Mathematical Sciences

29

Johari, M. A. M., Sapar, S. H. & Zaini, N. A.

3. Conclusion

Relation between the number of representations of an integer n as a sum of squares induced by λ , $s_{\lambda}(n)$ and the number of representations of an integer n as a sum of centred pentagonal numbers induced by λ , $c_{\lambda}(n)$ for $\lambda = (\lambda_1, \lambda_2, \ldots, \lambda_m)$ a partition of 8 is given by

$$s_{\lambda}(8n) - s_{\lambda}(2n) = \beta_{\lambda}c_{\lambda}(5n+3)$$

for all non-negative integers n where $\beta_{\lambda} = 2^m + 2^{m-1} \left(\binom{i_1}{4} + \binom{i_1}{2} \binom{i_2}{1} + \binom{i_1}{1} \binom{i_3}{1} \right)$ for i_j denote the number of parts of λ which are equal to j. There are 22 partitions of 8 to be considered. Therefore, we have proved the obtained relation for all partitions of 8 using the generating function method. This project can be extended to find the relation between $s_{\lambda}(n)$ and $c_{\lambda}(n)$ for $\lambda = (\lambda_1, \lambda_2, \ldots, \lambda_m)$ is a partition of k > 8.

Acknowledgements

The authors acknowledge valuable support from the Putra grant vot number GP/2018/9595100 and also the anonymous referee for providing constructive comments and suggestions.

References

- Adiga, C., Cooper, S., and Han, J. H. (2005). A general relation between sums of squares and sums of triangular numbers. *International Journal of Number Theory*, 1(02):175–182.
- Ballantine, C. and Merca, M. (2019). Jacobi's four and eight squares theorems and partitions into distinct parts. *Mediterranean Journal of Mathematics*, 16(2):26.
- Barrucand, P., Cooper, S., and Hirschhorn, M. (2002). Relations between squares and triangles. *Discrete mathematics*, 248(1-3):245-247.
- Baruah, N. D., Cooper, S., and Hirschhorn, M. (2008). Sums of squares and sums of triangular numbers induced by partitions of 8. International Journal of Number Theory, 4(04):525-538.
- Bateman, P. T., Datskovsky, B. A., and Knopp, M. I. (2001). Sums of squares and the preservation of modularity under congruence restrictions. In Symbolic Computation, Number Theory, Special Functions, Physics and Combinatorics, pages 59–71. Springer.

Relation Between Sums of Squares and Sums of Centred Pentagonal Numbers

- Cooper, S. and Hirschhorn, M. (2004). A combinatorial proof of a result from number theory. *Integers: Electrinic Journal of Combinatorial NumberThe*ory, 4(A09):1-5.
- Jha, S. K. (2020). An identity for the sum of inverses of odd divisors of n in terms of the number of representations of n as a sum of r squares. arXiv preprint arXiv:2007.04243.
- Johari, M. A. M., Atan, K. A. M., and Sapar, S. H. (2012). Relation between square and centered pentagonal numbers. *Malaysian Journal of Mathemati*cal Sciences, 6(2):165–175.
- Johari, M. A. M., Atan, K. A. M., and Sapar, S. H. (2013). A combinatorial proof for a relation between certain types of integers. JP Journal of Algebra, Number Theory and Applications, 28(2):129–139.